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Chapter 11 Homework
Do parts (a), (c), and optionally (b) of Exercise D11.2 .

For the two-way analysis-of-variance (ANOVA) model in part (a), use dummy variables
for partner’s status and categorized authoritarianism, as discussed in class.

For the analysis-of-covariance (ANCOVA) model in part (b), use a dummy-regression
model, with a dummy variable for partner’s status and the numeric authoritarianism score.

Substitute the following question for part (c): Does it make sense to construct added-
variable plots for dummy regressors and interaction regressors in an ANOVA or dummy-
regression model?



